	Bid# 061-JJ10													
	Title: Moving and Installation of Relocatable Buildings Buver: B. Jones			MIAMINA	· C A	MOVERS	National Control	DIICCELL DI		NO NOVEDO		SOUTH FLO		
ITEM	DESCRIPTION OF ITEM	Estimated Quanity	Unit	MIAMI ME Price per Unit	7	Extension		Price per Unit		Extension		GF rice per Unit	ROU	Extension
	VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE YEAR	Quanity										noe per orac		LACCHSION
	ITEMS 1 THROUGH 60 SHALL BE AWARDED ON A TOTAL LOW BID BASIS. Provide all necessary supervision, labor, material, and equipment to move portable classroom buildings from and to various locations throughout Miami-Dade County, Florida, in accordance with specifications.													
	Group 1; Items 1 through 32. Move - anywhere within the District - relocatable structures, complete (trailer, mobile facilities, etc.).													
1	Series 32, 37 buildings. Note: These moves are to be performed without separation of modules. Price shall be for total move, not by module.	2	Each	\$ 8,870.00	\$	17,740.00	 \$	8,950.00		\$17,900.00	\$	9,230.00	\$	18,460.00
2	Series 32, 37 buildings. Note: These moves are to be performed by separating modules. Price shall be for total move, not by module.	1	Each	\$ 8,870.00	\$	8,870.00				\$8,950.00		9,230.00	\$	9,230.00
3	Series 33 buildings. Note: This move is to be performed without separation of modules. Price shall be for total move, not by module.	1	Each	\$ 8,870.00	\$	8,870.00				\$8,950.00		9,230.00	\$	9,230.00
4	Series 33 buildings. Note: This move is to be performed by separating modules. Price shall be for total move, not by module.	1	Each	\$ 8,870.00	\$	8,870.00				\$8,950.00		9.230.00	\$	9,230.00
5	Series 34, 35, 36, and 63 buildings double wide. Note: These moves are to be performed without separation of modules. Price shall be for total move, not by module.	6	Each	\$ 7,250.00	\$	43,500.00	\$	7,950.00	\$	47,700.00		8,510.00	\$	51,060.00
	Series 34, 35, 36, and 63 buildings double wide. Note: These moves are to be performed by separating modules. Price shall be for total move not by module.	1	Each	\$ 7,250.00	\$	7,250.00	\$	7,950.00		7,950.00		8,510.00	\$	8,510.00
7	Series 38 buildings. Note: This move is to be performed by separating modules. Price shall be for total move, not by module.	2	Each	\$ 18,650.00	\$			19,900.00		39,800.00	\$	19,645.00	\$	39,290.00
8	Series 39 buildings. Note: This move is to be performed by separating modules. Price shall be for total move, not by module.	1	Each	\$ 19,470.00		19,470.00		19,900.00	<u> </u>	19,900.00	È	20,150.00	\$	20,150.00
9	Series 40 buildings	20	Each		\$	93,000.00	\$	4,950.00		99,000.00	\$	5,325.00	\$	106,500.00
10	Series 53 buildings. Note: This move is to be performed without separation of modules. Price shall be for total move, not by module.	1	Each	\$ 8,750.00	\$	8,750.00	\$	8,950.00		8,950.00	\$	9,425.00	\$	9,425.00
11	Series 53 buildings. Note: This move is to be performed by separating modules. Price shall be for total move, not by module.	1	Each	\$ 8,750.00	\$	8,750.00	\$	8,950.00	\$	8,950.00	\$	9,425.00	\$	9,425.00

	Bid# 061-JJ10														
	Title: Moving and Installation of Relocatable Buildings					-		-				T	SOUTH FLO	SIDA	A SUNSHINE
[Вµуег: В. Jones				MIAMI MEGA MOVERS		F	RUSSELL BU	ILC	ING MOVERS			OU		
ITEM	DESCRIPTION OF ITEM	Estimated Quanity	Unit	Pri	ce per Unit		Extension	P	rice per Unit		Extension	Pr	ice per Unit		Extension
12	Series 58 buildings. Note: This move is to be performed by separating modules. Price shall be per module only.	1	Each	\$	4,350.00	s	4,350.00	\$	4,650.00	\$	4,650.00	\$	4,950.00	\$	4,950.00
13	Series 59 buildings	10	Each	\$	5,120.00	\$		\$	5,250.00	\$		\$	5,735.00	\$	57,350.00
-14	Series 61 buildings. Note: This move is to be performed without separation of modules. Price shall be for total move, not by module.	1	Each	\$	8,750.00	\$		\$	8,950.00	\$	8,950.00	\$	9,175.00	\$	9,175.00
15	Series 61 buildings. Note: This move is to be performed by separating modules. Price shall be for total move, not by module.	1	Each	\$	8,750.00	\$	8,750.00	\$	8,150.00	\$	8,150.00	\$	9,175.00	\$	9,175.00
16	Series 62 buildings. Note: This move is to be performed without separation of modules. Price shall be for total move, not by module.	1	Each	\$	9,675.00	\$	9,675.00	\$	8,750.00	\$	8,750.00	\$	8,345.00	\$	8,345.00
17	Series 62 buildings. Note: This move is to be performed by separating modules. Price shall be for total move, not by module.	1	Each	\$	9,675.00	\$	9,675.00	\$	8,150.00	\$	8,150.00	\$	8,345.00	\$	8,345.00
18	Series 63 buildings (single wide)	1	Each	\$	3,125.00	\$	3,125.00	\$	3,350.00	\$	3,350.00	\$	3,745.00	\$	3,745.00
19	Series 65 buildings	1	Each	\$	5,125.00	\$	5,125.00	\$	5,250.00	\$	5,250.00	\$	5,750.00	\$	5,750.00
20	Series 66 buildings. Note: This move is to be performed by separating modules. Price shall be for total move, not by module.	1	Each	\$	7,850.00	\$			8,250.00	Ė	8,250.00	\$	8,345.00	\$	8,345.00
21	Series 67 buildings	1	Each	\$	5,425.00	\$	5,425.00	\$	5,350.00	\$	5,350.00	\$	5,910.00	\$	5,910.00
22	Series 68 buildings	1	Each	\$	5,750.00	\$	5,750.00	\$	5,950.00	\$	5,950.00	\$	6,175.00	\$	6,175.00
23	Series 69 buildings	1	Each	\$	5,295.00	\$	5,295.00	\$	5,650.00	\$	5,650.00	\$	5,710.00	\$	5,710.00
24	First Florida (Series 79)	2	Each	\$	5,125.00	\$	10,250.00	\$	5,550.00	\$	11,100.00	\$	5,845.00	\$	11,690.00
25	Globe (Series 87/89) double module. This move is to be performed without separation of modules.	2	Each	\$	5,750.00	\$	11,500.00	\$	6,150.00	\$	12,300.00	\$	6,410.00	\$	12,820.00
26	Globe (Series 87/89) single or double module. This move is for a single/double module when separation is required. Price shall be for a single module.	1	Each	\$	2,790.00	\$	2,790.00	\$	3,250.00	\$	3,250.00	\$	3,430.00	\$	3,430.00
27	State Relocatables (Series 97/99) double module. This move is to be performed without separation of modules.	2	Each	\$	5,750.00	\$	11,500.00	\$	6,150.00	\$	12,300.00	\$	6,475.00	\$	12,950.00
28	State Relocatables (Series 97/99) single module. This move is for a single/double module when separation is required. Price shall be for a single module.	10	Each	\$	2,850.00	\$	28,500.00	\$	3,250.00	\$	32,500.00		3,295.00	\$	32,950.00
29	Remove existing spot footing	1100	Each	\$	165.00	\$	181,500.00	\$	155.00	\$	170,500.00	\$	197.00	\$	216,700.00
30	Remove existing linear (strip) footing	400	Per Ln Foot	\$	66.00	\$	26,400.00	\$	70.00	\$	28,000.00		105.00	\$	42,000.00
31	Restoration of site: Grade, fill, level & sod	30000	Per Sq. Yard	\$	24.50	\$	735,000.00	\$	19.50		585,000.00		27.50	\$	825,000.00

	Bid# 061-JJ10														
	Title: Moving and Installation of Relocatable Buildings												SOUTH FLO	RIDA	A SUNSHINE
<u> </u>	Buyer: B. Jones			<u> </u>	MIAMI MEGA MOVERS		F	RUSSELL BUILDING MOVERS				GROUP			
ITEM	DESCRIPTION OF ITEM	Estimated Quanity	Unit	Pri	ce per Unit		Extension	Pr	ice per Unit		Extension	Pr	ice per Unit		Extension
32	Remove and dispose off site miscelaneous debris (Includes dump fees)	1290	Per Cu. Yd.	\$	29.50	\$	38,055.00	\$	31.00	\$	39,990.00	\$	35.25	\$	45,472.50
	Group 2; Items 33 through 58. M-DCPS approved precast concrete ramps and steps - as manufactured by Leesburg Concrete or equivalent - to be furnished and/or installed. Unit prices for furnish includes: Factory new precast product; delivery of precast product to the construction site.														
33	Furnish 21" precast steps and railings with 5'-0" x 5'-0" landing	12	Each	\$	1,575.00	\$	18,900.00	\$	1,490.00	\$	17,880.00	\$	2,195.00	\$	26,340.00
34	Install 21" precast steps and railings with landing	14	Each	\$	785.00	\$	10,990.00	\$	795.00	\$	11,130.00	\$	985.00	\$	13,790.00
35	Furnish and install child rails on 21" steps	6	Each	\$	240.00	\$	1,440.00	\$	715.00	\$	4,290.00	\$	345.00	\$	2,070.00
36	Furnish 28" precast steps and railings with 5'-0" x 5'-0" landing	80	Each	\$	1,465.00	\$		1	1,620.00	\$	129,600.00	\$	2,195.00	\$	175,600.00
37	Install 28" precast steps and railings with landing	100	Each	\$	785.00	\$	78,500.00	\$	795.00	\$	79,500.00	\$	910.00	\$	91,000.00
38	Furnish and install child rails on 28" steps	40	Each	\$	450.00	\$	18,000.00	\$	300.00	H	12,000.00		475.00	\$	19,000.00
39	Furnish 35" precast steps and railings with 5' landing	8	Each	\$	1,745.00	\$	13,960.00	\$	1,750.00	\$	14,000.00		2,425.00	\$	19,400.00
40	Install 35" precast steps and railings with 5' landing	8	Each	\$	950.00	\$	7,600.00		795.00	\vdash	6,360.00		1,175.00	\$	9,400.00
41	Furnish and install child rail on 35" steps.	8	Each	\$	445.00	\$	3,560.00	\$	390.00	\$	3,120.00		485.00	\$	3,880.00
42	Furnish 21" precast ramp and railings with requested landing	12	Each	\$	4,450.00	\$	53,400.00	\$	3,990.00	\$	47,880.00	\$	4,425.00	\$	53,100.00
43	Install 21" precast ramp and railings with landing	12	Each	\$	1,970.00	\$	23,640.00	\$	2,200.00	\$	26,400.00	\$	2,925.00	\$	35,100.00
44	Furnish and install child rails on 21" ramp	12	Each	\$	660.00	\$	7,920.00	\$	590.00	\$	7,080.00	\$	645.00	\$	7,740.00
45	Furnish 26" precast ramp and railings with requested landing	100	Each	\$	5,375.00	\$	537,500.00	\$	4,950.00	\$	495,000.00	\$	5,425.00	\$	542,500.00
46	Install 26" precast ramp and railings with landing	120	Each	\$	2,175.00	\$	261,000.00	\$	2,350.00	\$	282,000.00	\$	2,910.00	\$	349,200.00
47	Furnish and install child rails on 26" ramp	30	Each	\$	795.00	\$	23,850.00	\$	720.00	\$	21,600.00		945.00	\$	28,350.00
48	Furnish 30" precast ramp and railings with requested landing	20	Each	\$	6,325.00	\$	126,500.00	\$	5,950.00	-	119,000.00	\$	6,475.00	\$	129,500.00
49	Install 30" precast ramp and railings with landing	20	Each	\$	2,560.00	\$	51,200.00		2,700.00		54,000.00	\$	3,275.00	\$	65,500.00
50	Furnish and install child rails on 30" ramp	8	Each	\$	945.00	\$	7,560.00		730.00		5,840.00	\$	910.00	\$	7,280.00
51	Furnish and install individual ramp section with railings	900	Per Linear Foot	\$	310.00	\$	279,000.00	一	270.00		243,000.00	\$	345.00	\$	310,500.00
52	Furnish and install 5'-0" x 5'-0" landing with railings	25	Each	\$	1,695.00	\$	42,375.00	\$	1,650.00		41,250.00	\$	2,110.00	\$	52,750.00

	Bid# 061-JJ10								2					
	Title: Moving and Installation of Relocatable Buildings Buyer: B. Jones			MIAMI MEGA MOVER			MOVERS	RUSSELL BUILDING MOVERS						RIDA SUNSHINE OUP
ITEM	DESCRIPTION OF ITEM	Estimated Quanity	Unit	Pri	ce per Unit		Extension		ce per Unit	Г	Extension	Pri	ice per Unit	Extension
53	Furnish and install 6'-6" x 6'-6" landing with railings	25	Each	\$	2,310.00	\$	57,750.00	\$	2,150.00	\$	53,750.00	\$	2,945.00	\$ 73,625.00
54	If required, provide and install bottom level landing, including the necessary preparation work and material	5000	Per Square Foot	\$	9.25	\$	46,250.00	\$	9.50	\$	47,500.00	\$	12.25	\$ 61,250.00
55	Dismantle, and transportation per ramp, including rails	10	Each	\$	1,380.00		\$13,800.00	\$	2,250.00		\$22,500.00	\$	1,400.00	\$14,000.00
56	Dismantle, and transportation per stairs, including rails	10	Each	\$	330.00		\$3,300.00	\$	350.00		\$3,500.00	\$	350.00	\$3,500.00
57	Dismantle, transportation and installation, per ramp, including rails	10	Each	\$	2,545.00		\$25,450.00	\$	4,350.00		\$43,500.00	\$	2,575.00	\$25,750.00
58	Dismantle, transportation and installation, per stairs, including rails	10	Each	\$	875.00		\$8,750.00	\$	1,350.00		\$13,500.00	\$	900.00	\$9,000.00
59	Dispose of non-ADA or damaged ramps	10	Each	\$	985.00		\$9,850.00	\$	1,600.00		\$16,000.00	\$	1,025.00	\$10,250.00
60	Dispose of damaged stairs	10	Each	\$	350.00		\$3,500.00	\$	420.00		\$4,200.00	\$	400.00	\$4,000.00
	TOTAL LOW ITEMS 1 THROUGH 60					\$3	3,285,580.00			\$3	3,122,270.00			\$3,769,872.50

Prepared by_	1) (mos		
Verified by	//			